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Macroeconomics, PESM, February 27, 2007

Peter, Inflation Outline 

(see pp. 484-485 of BER for graph on unemployment-inflation trade-off, not included here)
1. Questions from  Reading Understanding Capitalism (BER), Chapter 18
2. What is your understanding of inflation, effects, causes, what inflation is?.

3. Much of the claims of structural adjustment programs are to reduce inflation

A.  What is rationale?
  1) Why do they (IMF, World Bank, etc.)  claim inflation is negative?

      a. hurts balance of payments—exports decrease and imports will increase                                         

       b. Uncertainty will limit productive investment—particularly long-run—uncertainty will
            foster speculation not productive investment which is key to growth. 

      c.  Fear of hyperinflation as higher rates of inflation are built into structure
 B.  Policies to counter inflation 
      1. Tight money-reduce money supply growth (monetarism as theory)
      2. Decrease in government deficit

      3. Flexibility, deregulation—to increase productivity and reduce costs, prices,

      4. Free trade—increase competition—lower price of imported goods, also which will force 

         domestic industries to be more competitive.

Grain of truth in that there is danger of too rapid growth in money supply, particularly when it is financing large and growing government deficit. 

IMF policy: very low or no inflation,. Ben  Bernanke, head of U.S. Federal Reserve calling  now for U.S. inflation of 1-2%. These policies  reduce inflation, balance of payments deficit but what are social costs-
Problems—cut social programs, increase poverty, often more unemployment.
4. Intro—Zimbabwe—Mugabe, Chavez—arrest people who raise prices.

World War II price controls worked—ration coupons, limited black market but in general price controls can only work if supply is also increasing, e.g. rent control.
Otherwise black markets develop since more people want good at its price than is being supplied. also danger of hoarding by suppliers until price rises and decrease in supply.

Suppliers may also lose money and go out of business. 

5. Key concepts

   A. Inflation—general rises of prices, 
   CPI (Consumer Price Index) —used to adjust poverty line, social security, WA State minimum wage. Prices are measured in relation to average of 1982-1984 prices (See week 1 handout, winter 2007  on economic statistics, workshop for more explanation, detail)
   B. Real Wage, see pp. 489 of BER, 
If 2006, average hourly money wage, $16.73 and CPI, 201.6 , what was real wage? 

  $8.30 is answer. Why?
$16.73/2.016 = $8.30, small growth in 2006.—about 8% or 70 cents less than in 1972.
In 1982-1984 prices, wage in 2006 is equivalent to $8.30—basically prices have doubled. 

NOTE: I checked with the Economic Report of the President, 2007 and the average money wage they gave for 2006 was $16.73 an hour not the higher amount I mentioned on Tuesday.

Sometimes, the media reports core inflation, which leaves out the prices of  food and energy which are considered very volatile (change a lot from year to year)
Additional Note; See the handout, reading  for 2/27 by IBON on Philippine prices—note prices of goods and services important to poor grew by more than inflation rate meaning that inflation rate will be higher for low income population and higher  for more high income groups. 
B. General Cause of Inflation—Too much money chasing too few goods—which side of this equation to focus on?

Monetarists focus on the left.  I also look at right side; e.g., expansionary fiscal, monetary  policies can lead to more demand and production rather than inflation or possibly a combination of the two.  Also important to and ask about social costs of inflation and of fighting inflation—TO WHOM? 
   e.g.  Society produces goods, everyone’s income doubles, prices double, no costs
   Economic, social costs of inflation—if it doesn’t effect production, winners and losers

    Often solution—reducing inflation-- is worse than problem—see Ellen Frank, The Raw Deal—readings for next week from Real World Macro
 C. Historical

   Before monopoly capitalism, prices often fell,  e.g. much of 19th century, see Page  480 (BER), fear of deflation (general fall of prices)  20th century upwards  tendency of prices in U.S.–around 2-3% a year on average
  Why—One major factor is monopoly capitalism, firms less likely to reduce prices in a concentrated industry-- non-price competition among oligopolies. 

        2nd reason-Since 1930’s, countercyclical policies of government  have limited to some extent economic depression which would still lower prices. During recession, prices increases are reduced but in general there is no deflation; this would require more devastating decline. 
Types of Inflation

     A.  Cyclical

As aggregate demand increases, unemployment declines, P =ulc + umc +up (P 482)

ulc = unit labor costs

umc = unit material costs

up = unit profits

At peak of business cycle, unit labor and material costs  rising, which pushes up prices—leads to Phillips curve., low unemployment, high prices 
In recession, ulc and umc tend to rise very slowly, if at all, thus leading to small price increases but high unemployment—hence trade-off

up may also fall  in a recession.

see P. 484-485 of BER on unemployment-inflation trade—off, check  graphs
Fiscal policy and monetary policy—to choose point on trade-off—show on graph—

Impact—high employment more favorable to workers, distribution of income more equal;  social services grow as government revenues increase although not if revenue growth are only used to reduces tax rates.
Supply side economics—claim for those who accepted it is that it would  push  down and to left the curve by increasing productivity thus making possible more employment, lower price increases. This was partly a response to stagflation of mid to late 1970’s

To other conservative economists, there is little or no trade-off;   Curve  was vertical or nearly vertical (NAIRU). Fiscal policy could only have short-run simulative effects. 
Note: Fiscal, Monetary policy ineffective if both inflation and unemployment are high or of limited effectiveness.  If expansionary if will make inflation even higher; if concretionary it will increase unemployment. 
Conclusion: Who pays for inflation?  Income distribution, real wage grows when labor markets are tightest. –I prefer high AD, balancing budget or moderate inflation  should not be  main concern. –try to index minimum wage, pensions so that costs of inflation are minimized
Key Point—Often calls to reduce inflation are calls to increase profits, reduce real wages, increase unemployment  without saying so—Greenspan, ex-head of Fed, worried openly about real wages growing too rapidly—fear it would reduce profits, e.g., late 1990’s  

B. Cost-push inflation—at same level of AD, rising costs push up inflation rate (not in book)—
For example, rise in oil prices in 1974, 1979, 2006 pushes up costs and prices.

In 1970’s, neither real wages nor profit rate grew.

Solution: restrain cost increases
C. Structural—Structural inflation occurs when price level increases rapidly through the course of  a business cycle,.—e.g., 1970’s
To BER: Economic stagnation +political stalemate = structural inflation – (p. 486 BER)—some overlap with cost-push inflation.
Neither workers nor capital could impose will—wages and prices chased each other. Workers could not increase real wage, only money wage; firms could not increase profit rate as economic pie was growing very slowly. Stalemate caused prices to rise.  
Key Point: Analyze inflation within  political economic context not just as technical issue. 

6. Possible Solutions—Too much money chasing too few goods—increase goods.

Probably inflation, at least moderate inflation, 2-4% a year,  is not a big problem. 

Dangers—hyperinflation, fixed incomes, declining value currency—possibility that inflation leads to depreciation of currency internationally because of growing balance of payments problems, which fuels inflation which fuels depreciation of currency-self-perpetuating.
Solution: produce more of necessities at home. 

Monetarism, balancing budget—weakens workers, Democratic Leadership Council (DLC), Bill Clinton big advocate of this—claimed it would reduce interest rate. It did but in general this policy favors capital.
Minimize impact of inflation—high employment, indexing of wages, fear it fosters growing inflation 
Break-up monopoly-explain micro here
Price controls—hard to maintain—maybe on basic services  although I think they make sense if supply is also growing—may be difficult  in capitalist economy. .  

